I can convert units of length
I can choose the best unit

10mm = lcm  mm=milimetres

cm=centimetres
100cm = 1m m=metres

1000m = 1km  km=kilmoetres



What would you use to measure...
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Convert to mm:
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Convert to mm:
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Icm = 10mm
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Convert to mm:

Icm = 10mm

0.bcm
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Convert to mm:
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Icm = 10mm
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Convert to cm:

10mm

Icm = 10mm

mm 0
Cm 0
m o

10
¥ |
0.01

20 25 30 40
2 25 3 ¢
002 005 003 0.04

30

0.09

60

6
0.06

70 75 80
7 75 8
0.07 007 0.08

90
9
0.09

100/

10 C?‘.‘.

0.1




Convert to cm:

100mm

Icm = 10mm
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Convert to km: 1000m = 1km
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Convert to km: 1000m = 1km
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Convert to km: 1000m = 1km
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Convert to m:
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Convert to m:

1000m = 1km

1.5km

mm 0
Cm 0
m o

10
¥ |
0.01

20 25 30 40
2 25 3 ¢
002 005 003 0.04

30

0.09

60

6
0.06

70 75 80
7 75 8
0.07 007 0.08

90
9
0.09

100/

10 C?‘.‘.

0.1




